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« POWER SUPPLY

CITIZEN model SDC-660Il is a dual-powered (high power solar + back-up
battery) calculator operative under any lighting conditions.

-Auto power-off function-

The calculator switches the power off automatically if there has been no
key entry for about 6 minutes.

-Battery change-

If the back-up battery needs to be changed, open the lower cabinet to
remove the old battery and insert a new battery in the indicated polarity.
After changing battery, please use a metal, elliptical object to press the
RESET pad on printed circuit board.

KEY INDEX English

[%"] : Power on / Clear key. [CE] : Clear entry.

[00-+0] : Right shift key [M+] : Memory plus key
[M=] : Memory minus key [+/-] : £Sign change key
[MRC] : Memory recall / Memory clear key [GT] : Grand total key

[MU] : Mark-up / Mark-down Key [RATE] : Tax rate setting key
STORE

[%1ax]: @ Price with Tax key

@ To store tax rate when pressing [RATE] and [+TAX] keys
[R,ETC,&'L] : ® Price without Tax key

@ To recall tax rate when pressing [RATE] and [-TAX] keys

[an =) Decimal place selection switch

-F- Floating decimal mode

—0-2-3- Fixed decimal mode

-A- ADD-mode automatically enters the monetary decimal in

addition and subtraction calculations
1543 .
Sl Round-up / Round-off / Round-down switch

)
The Signs Of The Display Mean The Following:

MEMORY : Memory TAX : Amount of tax
—MINUS : Minus(or negative) —TAX : Price excluding tax
ERROR : Overflow-error +TAX : Price including tax
GT : Grand total RATE : Tax rate setting

% : Tax rate stored

OPERATION EXAMPLES

1.Calculation Examples
Before performing each calculation, press the [%N] key.

Example Key operation Display
A023F 2x3=6 2[x]2[CE]3[=] o1 6.
D 7x9=63 7 X9[=] GT 63.
300 x 27% = 81 300 [x] 27 [%] 6T 81.
% x 100% =20%  11.2 [+] 56 [%] eT 20.
300+(300 x 40%)=420 300 [+] 40 [%] GT  420.
300-(300 x 40%)=180 300 [-] 40 [%] GT  1g0.
1400 x 12% = 168 1400 [x] 12 [%] GT  168.
6+4+75=175 6[+14[+]7.5[=] GT 175
5x3+02=75 (Y53 []0.2[F] 6T 75.
8+4x37+9=164 8[-]4[x]3.7[+]9[=] 6T 164
5'=625 5 [=] =] [=] GT 625,
1/2=05 2[][=] GT 0.5
1
e S00625 2(3[+10[][=] GT 0.0625
A023F  §14.90+$0.35-$1.45+ 1490 [+] 35 [-] 145 145
W $12.05=525.85 [+] 1205 [=] ST 2585
[ ]

2.Memory Calculation

AQ23F N
A (=1§8x 4)-(20+2) Mrc] MRC] [ 0.
1541 12 [x] 4 [M+] 20 [+] 2 [M—]  memorY 10.
[ ] [MRC] MEMORY 38.
MRC] [R] 0.

3.Constant Calculation

A023F 2#3=5 2[+]3[] 5.
D 4+3=7 4[] 7.
3x4=12 3[x]4[=] 12,
3x6=18 6[=] 18.

4.0verflow Error Clear
1234567890123456 x ~ 12345678901234567 ERROR  1'234'567'890'123'456

10000 = [00-+0] 123'456'789'0123456
1'234.567890123456 [x] 10000 [=] ERROR  1'234.567890123456
x10% ON
4 0.
5.Price Mark-Up & Down Calculation
A023F 200+(P x 20%)=P 2000 [+] 20 [MU] 2'500.00
M .
51 P 250000 M) 500.00
[ ’
2500-2000 = 500.00
200—(P x 20%)=P 2000 [+] 20 [+/-] [MU] 1'666.66
_ 2000 _,,
P: T3 20% 1'666.66
18000-15000 x100% 18000 [-] 15000 [MU] 20.00
15000
=20.00%
6.GT-Memory
Pressing [GT] twice before you operate GT function.
AQ23F 20+10=30 [GTI[GT] 20 [+] 10 [=] GT 30.
W 45-25=20 45[-] 25 [7] 6T 20.
50 x 3 = 150 50 [x] 3 [=] 6T 150,
total = 200 [GT] GT 200.
200 x 15% = 30 [x] 15 [%] GT 30.
200 +(200x 15%)  [GT] 6T 230
=230 [GT] 230.
% 0.
Al calculation results are automatically accumulated in GT
7.Tax Calculation
100+TAX(3%) 3 [RATE] [+TAX] *
1o 100 [+TAX o >
[TAX] 103.
Tax sum =3 [+TAX] TAX
3.
3 = Tax sum 103 = Tax inclusive value
%
206-TAX(3%) (] [RATE] [-TAX] 3.
=200 —TAX
206 [-TAX] 200.
Tax sum =6 [-TAX] TAX 6
6 = Tax sum 200 = Tax exclusive value
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ALIMENTACION

Modelo CITIZEN SDC-660Il funciona gracias a un mecanismo de doble
carga (luz solar y bateria de apoyo), lo cual le permite operar bajo
cualquier condicion de ilumina

-Funcién de desconexion automatica-

La calculadora se apaga automaticamente si no ha sido utilizada durante 6
minutos aproximadamente.

-Reemplazado de la pila-

Si la pila de apoyo necista ser reemplazada, quite los tornillos del
departamento inferior y sustituya la pila gastada por una nueva. Coloque
la pila en su posicion correcta, con la polaridad indicada. Después de
cambiar la bateria pulse la almohadilla RESET en la tarjeta de circuito
impreso con un objeto metalico eliptico.

TECLADO INFORMATIVO

[%] : Tecla de encendido / Borrar todo  [CE] : Tecla de borrar entrada

[+/-] : +Tecla de cambio de signo [GT] : Tecla de importe total

[M+] : Tecla de memoria positiva [M-] : Tecla de memoria negativa

[00-+0] : Tecla de anular el digito ultimado

[MRC] : Tecla de recuperar lo almacenado en la memoria / Tecla de
limpieza de memoria

[MU] : Tecla de subir o bajar precios

[RATE] : Tecla del Ajuste del Indice de la Tasa
[STORE] : @ Precio con la tecla de tasa

@ Para almacenar el indice de la tasa cuando se presionan las
teclas [RATE] y [+TAX].
@ Precio sin la tecla de tasa

@ Para recobrar el indice de la tasa cuando se presionan las teclas
[RATE] y [-TAX].

RECALL,
["7ax]

o Selector del lugar decimal

-F- Modo decimal flotante

—-0-2-3- Modo decimal flotante

-A- Modo ADD: ingresa automaticamente el decimal
monetario en célculos de suma y resta

!Csi/% Redondeo hacia arriba / Sin redondeo / Redondeo hacia abajo

Los signos del visor significan lo siguiente:

MEMORY : Memoria TAX: Cantidad de tasa

—MINUS : Menos(o negativo) —TAX : Precio excluyendo la tasa

ERROR : Error de desbordamiento  GT : Importe total

+TAX : Precio incluyendo la tasa RATE : Ajuste del indice de la tasa

% : Indice de la tasa almacenada

EJEMPLO DE FUNCIONES

1.Ejemplos de calculaciéon
Presione la tecla [%] antes de cada calculo.

Ejemplo Operacion con la tecla Visualizacion
A023F 2x3=6 2[x]2[CE]3[=] o1 6.
D 7x9=63 7 X19[=] GT 63.
300 x 27% = 81 300 [x] 27 [%] GT 81.
% x 100% =20%  11.2 [+] 56 [%] eT 20.
300+(300 x 40%)=420 300 [+] 40 [%] 6T 420.
300-(300 x 40%)=180 300 [-] 40 [%] GT  1g0.
1400 x 12% = 168 1400 [x] 12 [%] GT  168.
6+4+75=175 6[+14[+17.5[=] 6T 175
5x3+02=75 (N5K3[:]0.2[4] eT 75.
8+4x37+9=164 8[+]4[x]3.7[+]9[7] GT 16.4
5=625 5K [=] =] [=] GT 625,
1/2=05 2[][=] GT 0.5
1
@x3ig) 00625 2[3 [+ 10[][] GT 0.0625
A023F  §14.90+$0.35-$1.45+ 1490 [+] 35 [-] 145 145
M $12.05=$25.85 [+] 1205 [=] CT 2585
[ ]
2.Calculo de memoria
AQ23F
----- (12x4) - (20 +2) [MRC] [MRC] [ 0.
& I [MRC] [MRC] [F]
1541 12 [x] 4 [M+] 20 [+] 2 [M-]  mewmory 10.
[ o] [MRC] MEMORY 38.
IMRC] (2] 0.
3.Constante
AQ23F 2%3=5 2[+3[4 5
4%¥3=7 4[] 7.
3x4=12 3[x14[=] 12,
3x6=18 6[=] 18.

4. Limpieza de error de desbordamiento
1234567890123456 x 12345678901234567 ERROR  1'234'567'890'123'456

10000 = [00~0] 123456'789'0123456
1234.567890123456  [x] 10000 [=] ERROR  1'234.567890123456
x10% OoN
Izl 0.
5.Calculo de subir o bajar precios
A023F  200+(Px20%)=P 2000 [+] 20 [MU] 2'500.00
[ ) 2000 _,, MU 500.00
tsy  P= o =2'500.00 MU
2500-2000 = 500.00
200~(P x 20%)=P 2000 [+] 20 [+/-] [MU] 1'666.66
__2000 _,
P= T 20% 1'666.66
18000-15000 o, 18000 [<] 15000 [MU] 20.00
g0 X100%
=20.00%
6.MEMORIA GT
Presionar [GT] dos veces antes de que usted operere con la funcion GT .
AQ23F 20+10=30 [GTI[GT] 20 [+] 10 [=] GT 30.
D 45-25=20 45[-] 25[=] GT 20.
50 x 3 = 150 50 [x] 3 [=] GT 150
total = 200 [GT] GT  200.
200 x 15% = 30 [x] 15 [%] GT 30.
200 +(200x 15%)  [GT] GT  230.
=230 [GT] 230.
% 0.

Todos los resultados del calculo son acumulados autométicamente en el GT
7. Célculo de impuestos

100+TAX(3%) 3 [RATE] [+TAX] :
=103 .
100 [+TAX] ™ 103
Suma de impuesto = 3 [+TAX] TAX ’
3.
3 = Suma de impuesto 103 = Valor con impuesto
%
206-TAX(3%) 1] [RATE] [-TAX] 3.
=200 —Tax
206 [-TAX] 200.
Suma de impuesto = 6 [-TAX] TaX s
6 = Suma de impuesto 200 = Valor sin impuesto
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FONTE DE ALIMENTACAO

CITIZEN modelo SDC-660Il tem dupla fonte de alimentagdo de energia
(energia solar e bateria de reserva), permitindo operar sob qualquer
condigao de iluminagao.

-Funcao Auto power-off(desligamento automatico)-

A calculadora desliga automaticamente, caso nenhum a tecla seja
utilizada por aproximadamente 6 minutos.

-Troca de bateria-

Se for necessario trocar a bateria de reserva, remova a bateria usada,
abrindo a tampa inferior e coloque uma bateria nova, observando a
polaridade indicada. Depois de trocar a bateria, use um objeto metalico e
eliptico para pressionar a tecla RESET na placa de circuito impresso.

iNDICE DE TECLAS

[%N] : Tecla para Ligar / Limpar Tudo.
[CE] : Tecla para Limpar Entrada/ Limpar.
[00-0] : Tecla de mudanca de digito [+/-] : Tecla para mudar Sinal +
[M+] : Tecla de mais da memoria [M-] : Tecla de menos da memoria
[MRC] : Tecla da rechamada da meméria./ Tecla para limpar a meméria.
[MU] : Tecla para Marca Prego para cima/baixo
[GT] : Tecla do Grande Total
[RATE] : Tecla para Ajuste do indice da Taxa
[ +TA§<E] : ®Prego com a Tecla de Taxa
@Para armazenar o indice da taxa quando pressionadas
as teclas [RATE] e [+TAX]

[RFT%%L] 1 ®Prego sem a Tecla de Taxa
@Para recuperar o indice da taxa quando pressionadas
as teclas [RATE] e [-TAX]
A023F

Comutador para selegao de casa decimal

- Modalidade de decimal flutuante

—-0-2-3- Modalidade de decimal fixo

-A- Modalidade ADICIONAR entra automaticamente a decimal
monetaria em célculos de adi¢do e subtragdo

1543 Arredondamento para cima / Truncamento /

. Arredondamento para baixo
Os Sinais do Visor Significam o Seguinte:
MEMORY : Memoria TAX : Quantia de taxa
—MINUS : Menos(ou negativo) —TAX : Prego excluindo a taxa
ERROR : Erro por transbordamento +TAX : Prego incluindo a taxa
GT : Grande total RATE : Ajuste do indice da taxa

% : Indice da taxa armazenada

EXEMPLOS DE OPERACAO

1.Exemplo de calculos
Antes de executar cada célculo, pressione a tecla [%N].

Exemplo Operagéo com a tecla Visualizagdo
A023F 2x3=6 2[x] 2[CE]3[] er 6.
D 7x9=63 7 X19[=] GT 63.
300 x 27% = 81 300 [x] 27 [%] GT 81.
% x 100% =20%  11.2 [+] 56 [%] eT 20.
300+(300 x 40%)=420 300 [+] 40 [%] GT  420.
300-(300 x 40%)=180 300 [-] 40 [%] GT  180.
1400 x 12% = 168 1400 [x] 12 [%] GT  168.
6+4+75=175 6[+14[+]7.5[=] 6T 175
5x3+0.2=75 M5K3[]0.2[5] 6T 75
8+4x37+9=164 8[]4[x]3.7[+]9[] 6T 164
5'=625 5 [=] =] [=] GT 625,
1/2=05 2[][=] GT 0.5
1
Bxarig ©00625 23 10[][=] GT 0.0625
AQ23F  §14.90+$0.35-$1.45+ 1490 [+] 35 [] 145 145
M~ $12.05=$25.85 [+] 1205 [=] CT 2585
[ ]
2.Memoéria
AQ23F
»»»»» (12x4) - (20 +2) [MRc] MRC] [N 0.
o - [MRC] [MRC] [5]
1541 12 [x] 4 [M+] 20 [+] 2 [M-]  mewory 10.
[ o] [MRC] MEMORY 38.
MRC] [ 2] 0.

AQz3F 2+3=5 2143 5.
¥3=7 4= 7.
3x4=12 3[X14[=] 12.
3x6=18 6[=] 18.

4. Erro por transbordamento
1234567890123456 x 12345678901234567 ERROR  1'234'567'890'123'456

10000 = [00-0] 123'456'789'0123456
1'234.567890123456 [x] 10000 [=] ERROR  1'234.567890123456
x10" OoN
%4 0.
5.Calculo para marcagao de prego para cima & para baixo
A023F 200+(P x 20%)=P 2000 [+] 20 [MU] 2'500.00
e pe 122?)2/ 250000 MUl 500.00
- N
2500-2000 = 500.00
200~(P x 20%)=P 2000 [+] 20 [+/-] [MU] 1'666.66
_ 2000 _.,
P= T 0% =1'666.66
18000-15000 _ 4016, 18000 [] 15000 [MU] 20.00
15000
=20.00%
6.GT-MEMORIA
Pressione [GT] duas vezes antes de operar a fungéo GT.
AQ23F 20+10=30 [GTI[GT] 20 [+] 10 [=] GT 30.
W 45-25=20 45[-] 25 [7] 6T 20.
50 x 3 = 150 50 [x] 3 [=] eT 150.
total = 200 [GT] GT 200.
200 x 15% = 30 [x] 15 [%] GT 30.
200 + (200 x 15%) [GT] GT 230.
=230 [GT] 230.
! 0.

Todos os resultados de célculo s&o automaticamente acumulados em GT.
7.Caélculo da Taxa

100+TAX(3%) 3 [RATE] [+TAX] 3%
=103 -
STAX
100 [+TAX] 103.
Soma da Taxa = 3 [+TAX] TAX
3.
3 = Soma da Taxa 103 = Valor com taxa incluida
206-TAX(3%) ] [RATE] [-TAX] s
=200 —TAX
206 [-TAX] 200.
Soma da Taxa = 6 [-TAX] TaX s
6 = Soma da Taxa 200 = Valor excluido de Taxa
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STROMVERSORGUNG

Das CITIZEN Modell SDC-660Il wird durch 2 voneinander unabhangigen
Energiequellen versorgt (Entweder durch eine sehr starke Solarzelle oder durch
eine Batterie). Der Rechner arbeitet selbst unter schlechtesten Lichtbedingungen.
-Automatische Ausschaltung-

Ist der Rechner 6 Minuten nicht in Betrieb, schaltet er sich automatisch ab.
-Batteriewechsel-

Soltte die batterie gewechselt werden, entfernen Sie bitte die Schrauben vom
unterteil und tauschen die alte gegen eine neue batterie aus. Beachten Sie,
daf die batterie richtig, entsprechend der polaritét, eingelegt wird. Driicken
Sie nach dem Auswechseln der Batterie mit einem runden metallenem Objekt
auf das RESET Feld auf der bedruckten Platine.

ERKLARUNGEN VON SCHLUSSEL

[%"] :An/ Alles Léschen Taste. [CE] : Eingabe I6schen / Léschen Taste.
[00-0] : Rechts schub taste [M+] : Speicher Plus-Taste
[M-] : Speicher Minus-Taste [+/-] : +Vorzeicheneingabetaste
[MU] : Preisangabe-oben/unten Taste [GT] : Gesammtsummentaste.
[MRC] : Speicher Abruf-Taste / Speicher Léschen-Taste
[RATE] : Steuerraten-Einstellungstaste
[ﬁTTOAFf(E] : @Preis mit Steuern Taste
@8Speichern der Steuerrate, wenn die Tasten [RATE] und [+TAX]
gedriickt werden

[RFT%}L] :®Preis ohne Steuern Taste
@Abrufen der Steuerrate, wenn die Tasten [RATE] und [-TAX]
gedriickt werden

A023F i i

o Schalter fiir Dezimalauswahlplatz

-F- Gleitkomma-Modus

-0-2-3- Festkomma-Modus

-A- ADD-Modus gibt bei Additions- und Subtraktions-

rechnungen automatisch das Dezimalkomma an.

Abrundenschalter ,Aufrunden

e Zeichen in der Anzeige haben die Bed
MEMORY : Speicher TAX : Steuerbetrag
—MINUS : Minus(oder negative) —TAX : Preis ohne Steuern
ERROR : Uberlauffehler +TAX : Preis mit Steuern
GT : Gesamtsumme RATE : Steuerraten-Einstellung
% : Steuerrate gespeichert

BEISPIEL FUR DEN bETRIEB Deu

h

1.Berechnungsbeispiele
Vor jeder Berechnung bitte die [%] Taste driicken.

Beispiel Tastenkombination Anzeige
h023F 2x3=6 2[x]2[CE] 3 [7] o1 6.
C— 1 7x9=63 7[1X19[=]) GT 63.
300 x 27% = 81 300 [x] 27 [%] GT 81.
% x100% =20%  11.2 [+] 56 [%] eT 20.
300+(300 x 40%)=420 300 [+] 40 [%] GT  420.
300-(300 x 40%)=180 300 [-] 40 [%] 6T 180.
1400 x 12% = 168 1400 [x] 12 [%] GT  168.
6+4+75=175 6[+]4[+]7.5[=] GT 175
5x3+02=75 N5 [x13[10.2[<] eT 75.
8+4x37+9=164 8[-]4[x]3.7[+]9[] GT 164
5'=625 5[x (=[] [7] GT 625,
1/2=05 2] [F] GT 0.5
1
@xario) ©00625 23 10[][=] GT 0.0625
A023F  $14.90+$0.35-$1.45+ 1490 [+] 35 [-] 145 145
@M $12.05=525.85 [+] 1205 [=] ST 2585
)
2.Speicher
AQ23F N
A (=1§8x 4)-(20+2) Mrc]MRC] [ 0.
1541 12 [x]4 [M+] 20 [+] 2 [M-]  mewory 10.
[ o] [MRC] MEMORY 38.
MRC] [R] 0.
3.Konstant
A023F 2+3=5 2[+]3[F] 5.
4%¥3=7 4[] 7.
3x4=12 3[x]4[=] 12,
3x6=18 6[=] 18.

4. Korrektur und Uberlauffehler
1234567890123456 x 12345678901234567 ERROR  1'234'567'890'123'456

10000 = [00-0] 123'456'789'0123456
1'234.567890123456 [x] 10000 [=] ERROR  1'234.567890123456
x10" OoN
%4 0.
5.Preismarkierungs auf & abrundungsrechngung
A023F  200+(P x 20%)=P 2000 [+] 20 [MU] 2'500.00
Ty P ~zs0000 M) 50000
- N
2500-2000 = 500.00
200—(P x 20%)=P 2000 [+] 20 [+/-] [MU] 1'666.66
_ 2000 _,,
P= T 50% =1'666.66
18000-15000 41, 18000 [] 15000 [MU] 20.00
15000
=20.00%
6.GT-SPEICHER
Driicken Sie zweimal [GT], bevor Sie die GT-Funktion ausfiihren.
A023F 20 +10=30 [GT][GT] 20 [+] 10 [=] GT 30.
I 45-25=20 45[-]25[=] eT 20.
50 x 3 =150 50 [x] 3 [=] GT 150.
total = 200 [GT] eT 200.
200 x 15% = 30 [x] 15 [%] GT 30.
200 + (200 x 15%) [GT] GT 230.
=230 [GT] 230.
%4 0.

Alle Berechnungsergebnisse werden automatisch im GT akkumuliert
7.Steuerberechnung

100+TAX(3%) 3 [RATE] [+TAX] 3/
=103 -
+TAX
100 [+TAX] 103,
Steuersumme =3 [+TAX] TAX
3.
3 = Steuersumme 103 = Wert mit Steuersumme
%
206-TAX(3%) (Y] [RATE] [-TAX] 3.
=200 —TAX
206 [-TAX] 200.
Steuersumme = 6 [-TAX] TAX 6
6 = Steuersumme 200 = Wert ohne Steuersumme
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ALIMENTATION

CITIZEN modele SDC-660I1 & double alimentation (énergie solaire
haute+pile de soutien d’alimentation) qui peut opérer sous n’'importe
conditions de lumiere.

-Arrét d’alimentation automatique -

L’alimentation de cette calculatrice se coupe automatiquement si laissée
allumée et non utilisée pendant environ 6 minutes.
-Remplacement de pile-

Lorsque il faut remplacer la pile,enleve les vis de I'étui bas et remplacer la
pile usée et insérer une nouvelle pile selon la polarité indiquée. Aprés
avoir changé la batterie, utilisez un objet elliptique en métal, pour appuyer
sur le coussinet de REAJUSTEMENT sur le panneau du circuit imprimé.

SIGNIFICATION DES TOUCHES

[%"] : Bouton de Mise en marche / d’annulation

[CE] : Touche d’annulation de I'Entrée  [GT] : Touche de Total Général
[00—+0] : Touche de changement droit  [M+] : Touche de mémoire plus
[M-] : Touche de mémoire moins
[+/-] : £ Touche de changement de Signe
[MRC] : Rappeler la mémoire / Effacer la mémoire
[MU] : Touche de hausse/baisse du Prix
[RATE] : Touche de Réglage du Taux de la Taxe
[SJ%&E] : ®Touche de Prix avec la Taxe
@Sauvegarder le taux de la taxe en appuyant sur [RATE] (TAUX)
et [+TAX] (TAXE)

[R,ETC,&'L] : @Touche de Prix sans la Taxe

@Sauvegarder le taux de la taxe en appuyant sur les touches
[RATE] (TAUX) et [-TAX] (TAXE)

g% Bouton de sélection d'emplacement de la Décimale

-F- Mode de Décimale Flottante

—0-2-3- Mode de Décimale Fixe

-A- Le mode ADD entre automatiquement la décimale monétaire
en mode de calculs d’addition et de soustraction

1543

Bouton d’Arrondi supérieur / Arrondi / Arrondi inférieur
Les signes de I'Affichage signifient ce qui suit:

MEMORY : Mémoire TAX : Montant de la taxe

—MINUS : Moins(ou négatif) —TAX : Prix excluant la taxe
GT : Total Général +TAX : Prix incluant la taxe
ERROR : Erreur-Débordement % : Taux de la taxe stockée

RATE : Réglage du taux de la taxe

EXEMPLES D’OPERATIONS

1.Exemples de calculs
Avant d’effectuer chaque calcul, pressez la touche [%].

Exemple Touche d'Opération Affichage
A023F 2x3=6 2[x]2[CE]3[=] o1 6.
C— 7x9=63 7EX9[=] 6T 63.
300 x 27% = 81 300 [x] 27 [%] GT 81.
% x100% =20%  11.2 [+] 56 [%] 6T 20.
300+(300 x 40%)=420 300 [+] 40 [%] GT  420.
300-(300 x 40%)=180 300 [-] 40 [%] GT  1g0.
1400 x 12% = 168 1400 [x] 12 [%] GT  168.
6+4+75=175 6[+]4[+]7.5[7] GT 17.5
5x3+02=75 (N5K3[]0.2[5] 6T 75
8+4x37+9=164 8[-]4[x]3.7[+]9[] GT 164
5'=625 5[x][=] (=] [=] GT  625.
1/2=05 2[][=] GT 0.5
1
@xario) ©00625 23 10[][=] GT 0.0625
A023F  $14.90+$0.35-$1.45+ 1490 [+] 35 [-] 145 145
@M $12.05=525.85 [+] 1205 [=] 6T 2585
o
2.Calcul avec mémoire
AQ23F N
A (=1§8x 4)-(20+2) Mrc]MRC] [ 0.
1541 12 [x] 4 [M+] 20 [+] 2 [M-]  mewmory 10.
[ o] [MRC] MEMORY 38.
IMRC] (2] 0.
3.Constant Calcul
h023F 243=5 2[+]3[7] 5.
C D 4x3=7 4[= 7.
3x4=12 3[x] 4[] 12,
3x6=18 6[=] 18.

4.Correction et dépassement-erreur
1234567890123456 x 12345678901234567 ERROR  1'234'567'890'123'456

10000 = [00-+0] 123'456'789'0123456
1'234.567890123456 [x] 10000 [=] ERROR  1'234.567890123456
x10" ON
1 0.
5.Calcul de la hausse et de la baisse du prix
A023F  200+(P x 20%)=P 2000 [+] 20 [MU] 2'500.00
CDE w1 P= fzg[ﬂ)/ ~2'500.00 [MU] 500.00
- ’
2500-2000 = 500.00
200~(P x 20%)=P 2000 [+] 20 [+/-] [MU] 1'666.66
_ 2000 _.,
P= T3 20% =1'666.66
18000-15000 _ 41, 18000 [] 15000 [MU] 20.00
15000
=20.00%
6.Mémoire TG
Pressez [GT] (Total Général) deux fois avant d'utiliser la fonction TG.
A023F 20 +10=30 [GT][GT] 20 [+] 10 [=] et 30.
D 45-25=20 45[-]25[=] et 20.
50 x 3 =150 50 [x] 3 [=] GT 150.
total = 200 [GT] GT 200.
200 x 15% = 30 [x] 15 [%] 6T 30.
200 + (200 x 15%) [GT] GT 230.
=230 [GT] 230.
% 0.

Tous les résultats des calculs sont ajoutés automatiquement au Total Général.
7.Calcul de 'impot

100+TAX(3%) 3 [RATE] [+TAX] 3”
=103 .
100 [+TAX] e 103
Le montant de la taxe = 3 [+TAX] TAX ’
3.
3 = Le montant de la taxe 103 = Valeur avec avec taxe
%
206-TAX(3%) 1] [RATE] [-TAX] 3.
=200 E
206 [-TAX] 200.
Le montant de la taxe =6 [-TAX] TAX s
6 = Le montant de la taxe 200 = Valeur hors taxe
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Alimentazione Elettrica

II' calcolatore CITIZEN model SDC-660Il ha due risorse di potenza : energia
solare e batteria di riserva e puo funzionare sotto qualsiasi luce.

-Spegnimento automatico-

La calcolatrice si spegne automaticamente se non immettere nessun dato in
circa 6 minuti.

-Sostituzione della batteria-

Nel caso che sia necessario sostituire la batteria,rimuovere il coperchio
inferiore, togliere la batteria vecchia e inserire una nuova nel
compartimento batteria. Dopo aver cambiato la batteria, si prega di usare
un oggetto di metallo ellittico per premere il tasto RESET (REIMPOSTA)
sullo schema del circuito stampato.

[%"] : Acceso / Tasto cancella tutto.  [CE] : Cancella immissione

[00-+0] : Correzione [M+] : Memoria addizione

[M-] : Memoria sottrazione [+/-] : +Tasto cambio segno

[GT] : Tasto somma complessiva

[MRC] : Tasto richiama memoria / Tasto cancella memoria

[MU] : Tasto rialzo/ribasso di prezzo

[RATEg : Tasto di impostazione dell’Aliquota d'imposta

[SJ%& ] : ®Prezzo con Tasto d'imposta
@Per memorizzare |'aliquota d'imposta quando si premono i tasti
[RATE] e [+TAX]

[R,ETC,_«&LL] : ®Prezzo senza Tasto d'imposta
@Per richiamare I'aliquota d'imposta quando si premono i tasti
[RATE] e [-TAX]

A023F ‘ N . .

o =) Scambio selezione della posizione del decimale

-F- Modalita decimale mobile

—-0-2-3- Modalita decimale fissa

-A- La modalita AGGIUNGI introduce automaticamente il decimale

monetario nei calcoli di addizione e sottrazione

Scambio arrotondamento / arrotondamento per eccesso

| simboli dello Schermo di visualizzazione significano:

MEMORY : Memoria TAX : Somma dell'imposta
—MINUS : Meno(o negativo) —TAX : Prezzo esclusa 'imposta
GT : Somma complessiva +TAX : Prezzo inclusa I'imposta
% : Aliquota d'imposta memorizzata

ERROR : Errore di traboccamento aritmetico

RATE : Impostazione dell'aliquota d'imposta

1.0Operazione del calcolo normale
Prima di effettuare ciascun calcolo, premere il tasto [%].

Esempio Operazione con il tasto Visualizzazione
A023F 2x3=6 2[x]2[CE] 3 [=] o1 6.
C— 1 7x9=63 71 X9 GT 63.
300 x 27% = 81 300 [x] 27 [%] o1 81.
% x100% =20%  11.2 [+] 56 [%] 6T 20.
300+(300 x 40%)=420 300 [+] 40 [%] GT 420,
300—(300 x 40%)=180 300 [-] 40 [%] 6T 180.
1400 x 12% = 168 1400 [x] 12 [%] GT  168.
6+4+75=175 6[+14[+ 7.5 6T 175
5x3+02=75 N5 [x13[10.2[<] eT 75.
8+4x37+9=164 8[+]4[x]3.7[+]9[=] GT 16.4
5'=625 5[x1[=] (=] [=] 6T 625,
1/2=05 2[:][=] GT 05
1
@x3ie) =00625 2[x13[+]10[][] GT 0.0625
A023F  $14.90+$0.35-$1.45+ 1490 [+] 35 [-] 145 145
@M $12.05=525.85 [+] 1205 [] 6T 2585
(@ =}
2.0perazione del calcolo memoria
AQ23F N
A (=1§8x 4)-(20+2) Mrc] MRC] [ 0.
1541 12[x] 4 [M+] 20 [+] 2 [M-]  wewory 10.
(= =} [MRC] MEMORY 38.
MRC] [R] 0.
3.0perzaione del calcolo costante
A023F 2+3=5 2[+]3[F] 5.
W 4+3=7 4[] 7.
3x4=12 3[x]4[=] 12.
3x6=18 6] 18.
4.C llazi della ita di operazione superata
1234567890123456 X~ 12345678901234567  ERROR  1'234'567'890'123456
10000 = [00-0] 123'456'789'0123456
1234.567890123456  [x] 10000 [=] ERROR  1'234.567890123456
x10% OoN
[c] 0.
5.Calcolo rialzo / Ribasso di prezzo
A023F  200+(Px20%)=P 2000 [+] 20 [MU] 2'500.00
ey P= 122?)0/ =2500.00 MY 500.00
[ ’
2500-2000 = 500.00
200—(P x 20%)=P 2000 [+] 20 [+/-] [MU] 1'666.66
_ 2000 _.,
P= 0y, = 11666.66
18000-15000 1 30, 18000 [-] 15000 [MU] 20.00
15000
=20.00%
6.MEMORIA GT
Premendo [GT] due volte prima di attivare la funzione GT.
A023F 20+10=30 [GTI[GT] 20 [+] 10 [=] GT 30.
W 45-25=20 45[-]25[=] GT 20.
50 x 3 = 150 50 [x] 3 [=] 6T 150,
total = 200 [GT] GT 200.
200 x 15% = 30 [x] 15 [%] eT 30.
200 + (200 x 15%)  [GT] GT 230
=230 [GT] 230.
% 0.

Tutti i risultati del calcolo sono automaticamente accumulati in GT.
7.Calcolo della tassazione

100+TAX(3%) 3 [RATE] [+TAX] 3%
=103 -
+TAX
100 [+TAX] 103.
Importo della tassa = 3 [+TAX] TAX
3.
3 = Importo della tassa 103 = Valore con tassa
206-TAX(3%) (9] [RATE] [-TAX] s
=200 ~TAX
206 [-TAX] 200.
Importo della tassa = 6 [-TAX] TAX s

6 = Importo della tassa 200 = Valore senza tassa
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Stroomvoorziening Nederlands

De CITIZEN SDC-660Il calculator krijgt haar energie van twee soorten
batterijen: zonne-energie en reserve energie. Zij kan onder alle soorten
licht werken.

-Automatische verbreking van de stroomvoorziening-

Als de calculator gedurende 6 minuten niet gebruikt wordt, zal de
Sstroomvoorziening automatisch verbroken worden.

-Het verwisselen van de batterijen-

Wanneer u de batterijvakje wilt verwisselen, moet u eerst het deksel van
het batterijvakje openen en de oude batterijen verwijderen, en daarna de
nieuwe batterijen in het vakje plaatsen. Na het veranderen van de batterij,
gebruikt u een metalen elliptisch voorwerp om op het RESET pad van het
gedrukte circuitbord te drukken.

ijst van druktoetsen Nederlands

[%"] : Inschakelen / Wissen [CE] : Invoer wissen

[00-+0] : Veranderen [GT] : Toets voor het volledig totaal

[M-] : Geheugen aftrekken [M+] : Geheugen optellen

[+/-] : + Toets voor het veranderen van teken

[MRC] : Toets voor het opvragen van geheugen/Toets voor het wissen van geheugen

[MU] : Toets voor afgeprijsde en verhoogde prijs

[RATE] : Toets voor het instellen van het belastingstarief

ax | - @Toets voor de prijs met belasting

@om het belastingstarief op te slaan wanneer u op de toetsen [RATE] en
+TAX] drukt

[
[RF%&‘L] : WToets voor de prijs zonder belasting
@om het belastingstarief op te vragen wanneer u op de toetsen [RATE] en
[=TAX] drukt
AQ23F i i
o= ) Schakelaar voor de selectie van de decimale plaatsen
-F- Drijvende komma decimale modus
—0-2-3- Vaste komma decimale modus
—A- De optelmodus gaat automatisch over naar de monetaire
decimale modus bij het optellen en aftrekken
1543

Schakelaar voor het naar boven / naar beneden afronden

De tekens op het beeldscherm hebben de volgende betekenis:
MEMORY : Geheugen
—MINUS : Min(of negatief)
ERROR : Overflow fout

GT : Volledig totaal

% : Belastingstarief opslaan

1. Voorbeeldberekeningen
Alvorens een bewerking uit te voeren dient u op de toets [%] te drukken.

Voorbeeld Ingedrukte toetsen Weergave op het scherm
A023F 2x3=6 2[x12[CE] 3 [] ot 6.
C— I 7x9=63 7EX9[=] 6T 63.
300 x 27% = 81 300 [x] 27 [%] GT 81.
% x 100% =20%  11.2 [+] 56 [%] GT 20.
300+(300 x 40%)=420 300 [+] 40 [%] GT  420.
300-(300 x 40%)=180 300 [-] 40 [%] GT  1g0.
1400 x 12% =168 1400 [x] 12 [%] GT  168.
6+4+75=175 6[+]4[+]7.5[F] GT 175
5x3+02=75 (N5K3[]0.2[5] 6T 75
8+4x37+9=164 8[]4[x]3.7[+]9[=] GT 164
5'=625 5[x][=] [=] [=] 6T 625
1/2=05 2] [7] GT 0.5
1
e ©00625 2(3[+10[][=] GT 0.0625
A923F  §14.90+§0.35-$1.45+ 1490 [+] 35 [-] 145 145
Lsar) $12.05-$25.85 [+] 1205 [=] CT 2585
o
2. Geheugenberekeningen

AQ23F .

e (:1§8x 4)-(20+2) MRc] [MRC] [ R 0.
1541 12 [x] 4 [M+] 20 [+] 2 [M-]  mewory 10.
[ o] [MRC] MEMORY 38.

IMRC] (2] 0.

. Berekeni met een ite
AQ23F 2+3=5 2[+]3[4] 5
4%3=7 4[] 7.
3x4=12 3[x]4[=] 12,
3x6=18 6[] 18.

4. Het schrappen van ingetoetste getallen die de
cberekeningcapaciteit overschrijden
1234567890123456 x 12345678901234567 ERROR  1'234'567'890'123'456

10000 = [00-+0] 123'456'789'0123456
1'234.567890123456 [x] 10000 [=] ERROR  1'234.567890123456
x10% OoN
12 0.
5.Berekening van de afgeprijsde of verhoogde prijs
A023F  200+(P x 20%)=P 2000 [+] 20 [MU] 2'500.00
51 P 250000 M) 500.00
jo— | ’
2500-2000 = 500.00
200—(P x 20%)=P 2000 [+] 20 [+/-] [MU] 1'666.66
_ 2000 _,,
P= o =1'666.66
1800015000 ;6. 18000 [] 15000 [MU] 20.00
15000
=20.00%
6.GT-GEHEUGEN
Druk tweemaal op [GT] alvorens bewerkingen met de GT-functie te beginnen.
A023F 20 +10=30 [GTI[GT] 20 [+] 10 [=] 30.
W 45-25=20 45[-] 25 [=] et 20.
50 x 3 =150 50 [x] 3 [=] GT 150.
total = 200 [GT] GT 200.
200 x 15% = 30 [x] 15 [%] GT 30.
200 + (200 x 15%) [GT] GT 230.
=230 [GT] 230.
1 0.
Alle berekenir worden 1in het GT-g gen lleerd.
7. Berekening van belastingen
100+TAX(3%) 3 [RATE] [+TAX] 3%
=103 -
100 [+TAX] X
Bedrag van de belasting 103.
=3 [+TAX] X 3
3 = Bedrag van de belasting 103 = Prijs met de belasting inbegrepen
%
Eozsz;oTAX(S%) ] [RATE] [-TAX] 3
- ~TAX
" 206 [-TAX] 200
Bedrag van de belasting g
-6 [-TAX] ™ 5
6 = Bedrag van de belasting 200 = Waarde zonder belasting
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Stremforsyninge

CITIZEN SDC-660Il regnemaskine er forsynet af to typer batterier :
Solceller og reservebatteriet, hviken ger det muligt at bruge
regnemaskinen med ethvert baggrundslys.

-Stop stramforsyningen automatisk-

Lommeregneren slukker automatisk for strammen, hvis der ikke har vaeret
trykket pa en tast i ca. 6 minutter.

-Skift batteriet-

Nar batteriet skal skiftes, &bner man laget nedenunder, tager batteriet ud,
og seetter det nye batteri pa plads. Efter batteriskift, anvend venligst en
elliptisk genstand til at trykke pa RESET pa printpladen.

Knappers indeks m

[%N] : Teend / slet. [CE] : Slet indtastning

[00-0] : Rettelse knap [M+] : Addition hukommelse knap
[M-] : Subtraktion hukommelse knap  [+/-] : +Skift fortegn

[MU] : Prismaerke op/ned [GT] : Grand total tast.

[MRC] : Hent hukommelsen / Slet hukommelsen
[RATE] : Tast til indstilling af moms sats

[SJ%&E] : @Tast til pris med moms

@Lagring af moms sats ved tryk pa [RATE] og [+TAX] taster

[R,ETC,_«&LL] : @Tast til pris uden moms
@Genkald af moms sats ved tryk pa [RATE] og [-TAX] taster
g:% Knap til valg af decimalplads
-F- Flydende decimaltaltilstand
—0-2-3- Fast decimaltaltilstand
-A- ADD-mode indtaster automatisk valutadecimalen i

additions- og subtraktionsberegninger

Knap til rund op / rund af / rund ned

)

Tegnene pa displayet har y g
MEMORY : Hukommelse TAX : Moms maengde
—MINUS : Minus(eller negativ) —TAX : Pris eksklusiv moms
ERROR : Overlgbsfejl +TAX : Pris inklusiv moms
GT : Grand total RATE : Moms sats indstilling

% : Moms sats lagret

1.Almindelig regningsoperation
Inden du udferer en beregning, skal du trykke pa tasten [%]

Betjening eksempler m

Eksempel Tastebetjening Vis
AQ23F 2Xx3=6 2[x] 2[CE]3[=] er 6.
I 7x9=63 7 X19[=] GT 63.
300 x 27% = 81 300 [x] 27 [%] GT 81.
% x100% =20%  11.2 [+] 56 [%] eT 20.
300+(300 x 40%)=420 300 [+] 40 [%] 6T 420.
300—(300 x 40%)=180 300 [-] 40 [%] 6T 180.
1400 x 12% = 168 1400 [x] 12 [%] 6T 168,
6+4+75=175 6[+]4[+ 7.5 6T 175
5x3+02=75 [%]5[)(]3 [+10.2[=] GT 75.
8+4x37+9=16.4 8[]4[x]3.7[+9[] 6T 164
5'=625 5[x1[=][=] [=] GT 625,
1/2=05 2[][=] GT 0.5
1

@x3ig) 00625 2[3 [+ 10[][] GT 0.0625
AQ23F  §14.90+$0.35-$1.45+ 1490 [+] 35 [] 145 or 145
TET $12.05=825.85 [+] 1205 [=] 25.85

oD

2.AHL2|l§cgmmelse regningsoperation

0 .

s (=1§8x 4)-(20+2) MRc] [MRC] [R] 0.
1541 12 [x] 4 [M+] 20 [+] 2 [M—]  memoryY 10.
- =} [MRC] MEMORY 38.

MRC] [ 2] 0.

3.Regningssystem for konstanter
AQ23F 2+3=5 2[+3[] 5.
I 4+3=7 4[] 7.
croy ofF 3x4=12 3[x4[=] 12,
I 3x6=18 6[=] 18.

4.Slet delen over regningskapaciteten

1234567890123456 x ~ 12345678901234567  ERROR  1'234'567'890'123456

10000 = [00-0] 123456'789'0123456
1234.567890123456  [x] 10000 [=] ERROR  1'234.567800123456
x10" OoN

4 0.

5.Beregning med prismarke op & ned

A023F  200+(P x 20%)=P 2000 [+] 20 [MU] 2'500.00
CX D 2000 _, MU] 500.00
touy  P= T20% =2'500.00
2500-2000 = 500.00
200—(P x 20%)=P 2000 [+] 20 [+/-] [MU] 1'666.66
_ 2000 _,,
P= Tr20% 1'666.66
18000-15000 o, 18000 [-] 15000 [MU] 20.00
15000 x100%
=20.00%
6.GT-HUKOMMELSE
To tryk pa [GT] fer anvendelse af GT funktion.
A023F 20 +10 =30 [GT] [GT] 20 [+] 10 [=] GT 30.
C D 45-25=20 45[-] 25 [=] GT 20.
50 x 3 = 150 50 [x] 3[=] 6T 150,
total = 200 [GT] GT 200.
200 x 15% = 30 [x] 15 [%] eT 30,
200 + (200X 15%)  [GT] 6T 230
=230 [GT] 230.
&) 0.
Alle beregningsresultater akkumuleres automatisk i GT.
7. Berekening van belasti 1
100+TAX(3%) 3 [RATE] [+TAX] %
=103 - 3.
+
) 100 [+TAX] 103.
Afgiftssum = 3 [+TAX] TAX
3.
3 = Afgiftssum 103 = Veerdi inklusiv afgift
206-TAX(3%) ] [RATE] [-TAX] s
=200 —TAX
206 [-TAX] 200.
Afgiftssum = 6 [-TAX] Tax s
6 = Afgiftssum 206 = Veerdi ekslusiv afgift
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CHABXEHUE 3HEPTUEN

Mopenb CITIZEN SDC-660ll umeeT AaBoiHOe nuTaHWe (COMHeYHble
anemeHThl + 6aTapes) 1 cnocobHa paboTaTb Npu 1lo6oM OCBELLEHNN.
-ABTOMATUYECKOE OTKMIOYEHIUE NUTAHMS-

OTOT KankKynsTop o6nafaeT yHKUMEd aBTOMATUHYECKOrO OTKMIOYEHNs
9neKTPONUTaHVs, Bnarofjaps YeMy NUTaHUE OTKIIOYAETCS, ECMN B TEYEHNe
6 MUHYT He NPOM3BOANMOCH HUKAKUX OMepaLMil Ha KnasuLIaXx.

-3ameHa 3IeMEHTOB NUTaHUs-

Bnaroaaps ABOHOMY NuTaHuio, Gatapeu, yctaHaBnmeaemble ¢ 06paTHoON
CTOPOHBI YCTPOICTBA, paGoTaloT AnuTensbHOE Bpems. Ecnn usobpaxeHue
Ha [UCNee CTaHOBUTCH HEACHbIM, HEOBXOAMMO 3amMeHuTb Gatapeu.
CHUMUTE KpbILLKY C HWKHEro oTceka. Maenekute crapele Gatapen u
BCTaBbTE HOBble Gartapew, cobniogas nonspHocTb. [locne 3ameHbl
6ataperikn_C_MoMOLUbIO TOHKOTO METannMYeckoro npeameta Haxmute
kHonky RESET Ha nevaTHoi nnare.

HASHAYEHME KNABULU

[%‘] : Bknioyenne nutanna /CEpOC BCEX 3HAUEHUI .
[CE] : Cbpoc uucna
[00—+0] : KnaBuwa «3a6oi» (knasuwa npaeku Yucna).
[M+] : KnaBuwa npubasneHus B peructp namstu.
[M-] : KnaBuLua BbIYUTaHUA U3 perncTpa namsaTu.
[+/-] : +MepemeHa 3Haka
[MRC] : Bbi3oB uucna us namsitu / C6poc namstv
[MU] : Poct/napeHue LeHb!
[GT] : Knasuwa obLieit cymmbl
[RATE] : Knasuwwa BBOJA YPOBHS Hanora
[S+T%§<E] : @ Knaeuwwa BBOAA LieHbI C Hanorom

@ [Ins 3an1cy ypoBHS Hanora HaxmuTe knasuium [RATE] n [+TAX].
RECALL, .
["Fax | : @ Knasuwa seoaa ueHbl 6es Hanora

@ [1ns BbI30Ba YPOBHSA Hanora Haxmute knasuwm [RATE] n [-TAX].

----- MepeknioyaTenb NONOXEHNA AECATUYHONO 3Haka

—-F- Pexum nnasatowei 3ansTon
—0-2-3- Pexum dumkcuposaHHon 3ansaToit
_A— Pexvum ADD-aBTOMaTUYeCKUiA BBOA, ABYX AECATUYHBIX

3HAKOB NP CMOXEHWUN U BbIYUTAHUM JEHEXHbIX CYMM

1o OkpyrneHue Beepx / OkpyrneHue / OkpyrneHve BHU3
3HayeHUe MHANKATOPOR 3KpaHa:

MEMORY : namsitb TAX : Cymma Hanora

—TAX : Liena 6e3 Hanora ERROR : Oww6ka nepenonHeHus
+TAX : Llena ¢ Hanorom GT : O6was cymma
—MINUS : MuHyc (unm oTpuLiatensHoe Y1cro)

% : 3anucaHHi BEHb Hasnora RATE : BBOA ypoBHS Hanora

* NMPUMEPbI Pycckni
1.MpumepsbI pacyéToB

Mpexae YeM HayaTb BbIYUCNEHUS, HAXXMUTE KnaBuLLy [%N].

Mpumep Knasuwum OkpaH
AQ23F 2x3=6 2[X]2[CE]3[7] o1 6.
D 7x9=63 7 X9[=] GT 63.
300 x 27% = 81 300 [x] 27 [%] GT 81.
% x100% =20%  11.2 [+] 56 [%] GT 20.
300+(300 x 40%)=420 300 [+] 40 [%] GT 420.
300—(300 x 40%)=180 300 [-] 40 [%] GT  180.
1400 x 12% = 168 1400 [x] 12 [%] GT  168.
6+4+75=175 6[+]4[+]7.5[=] GT 175
5x3+02=75 [%]5[)(]3 [+]0.2[7] GT 75.
8+4x37+9=164 8[+]4[x]3.7[+]9[] GT 164
5*=625 5[x] [=] [=] [=] GT 625,
1/2=05 2] [=) GT 05
1
Grarig - 00625 2[3[+ 10 (<] GT 0.0625
2023F  $14.90+80.35-$1.45+ 1490 [+] 35 [-] 145 145
M5 $12.05=525.85 [+ 1205 [=] o7 2585
o
2. Onepauum ¢ NamMATLIO
A023F +
I ) (:gax 4)=(20+2) MRc] [MRC] [R] 0.
1541 12[x] 4 [M+] 20 [<] 2 [M-]  mewory 10.
[ ] [MRC] MEMORY 38.
MRC] [ ] 0.
3. BbluMCneHNs ¢ KOHCTaHTON
A023F 2+3=5 2[+]3[7] 5.
D 4+3=7 4= 7.
3x4=12 3[x]4[=] 12.
3x6=18 6[=] 18.

4. VcnpaeneHue olwnB0K 1 c6poc OLMBKM NPU U3BLITKE YACTIOBLIX 3HAaKOB
1234567890123456 x ~ 12345678901234567 ERROR  1'234'667'890'123'456

10000 = [00-0] 123'456'789'0123456
1234.567890123456  [x] 10000 [=] ERROR  1'234.567890123456
x10" OoN
1% 0.
5. PACYET POCTA U NAQEHUSA LIEH
A023F  200+(P x20%)=P 2000 [+] 20 [MU] 2'500.00
[ ) 2000 _,, MU 500.00
1501 P00 =2500.00 Myl
2500-2000 = 500.00
200—(P x 20%)=P 2000 [+] 20 [+/-] [MU] 1'666.66
__2000 _.,
P= gy =1666.66
18000-15000 _ 4 1o, 18000 [] 15000 [MU] 20.00
15000
=20.00%
6. NAMATb GT
Ons nepexona B pexxum GT HaxmuTe knasuwy [GT] asa pasa.
AQ23F 20+10=30 [GTI[GT] 20 [+] 10 [=] GT 30.
1 45-25=20 45[-]25[=] GT 20.
50 x 3 =150 50 [x] 3 [=] GT 150,
total = 200 [GT] 6T 200.
200 x 15% = 30 [x1 15 [%] GT 30.
200 + (200 x 15%)  [GT] GT 230
=230 [GT] 230.
% 0.

PesynkTathl BCeX BbIYMCNEHMiA HakannusaroTcs B namat GT.
7. Beluucnexue Hanoros

100+TAX(3%) 3 [RATE] [+TAX] 3%
=103 -
+TAX
100 [+TAX] 103.
cymma Hanora = 3 [+TAX] TAX
3.
3 = cymma Hanora 103 = cymma ¢ Harorom
206-TAX(3%) ] [RATE] [-TAX] s
=200 —TAX
206 [-TAX] 200.
cymma Harnora = 6 [-TAX] TAX s
6 = cymma Harora 200 = cymma 6e3 Harora
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Kalkulator CITIZEN, model SDC-660Il jest zasilany podwdjnie (bateria
stoneczna + bateria zwykta) Kalkulator pracuje w kazdych warunkach
oswietlenia.

-Funkcja automatycznego wylaczenia-
Kalkulator wylacza sig¢ automatycznie w przypadku jesli zaden z
przyciskow nie zostanie nacisnlety w ciggu 6 minut.

-Wymiana baterii-

Jesli konieczna jest wymiana baterii nalezy otworzy¢ dolng uwage na
odpowiednia polaryzacje.pokrywe, usuna¢ stare baterie i wlozy¢ nowe
zwracajac. Po wymianie baterii prosze nacisnaé przycisk RESET na plytce
drukowanej przy pomocy cienkiego metalowego przedmiotu.

OPIS KLAWISZY

[%“] : asilanie / Kasowanie zawarto$ci pamieci .

[CE] : Kasowanie liczby [00-0] : Klawisz powrotu

[+/-] : £Zmiana znaku [GT] : Klawisz sumy ogétem

[M+] : Przycisk wprowadzenia do pamieci ze znakiem plus

[M-] : Przycisk wprowadzenia do pamieci ze znakiem minus

[MU] : Przyrost/obnizka cen

[MRC] : Przywotywanie z pamigci / Kasowanie zawartosci pamieci

[RATE] : Wprowadzenie wysokosci podatku

[S+TTOA§<E] : ®Cena z podatkiem@Aby zapisa¢ wysoko$¢ podatku, nacisnij
klawisze [RATE] i [+TAX].

[RFTC&‘L] : MCena bez podatku @Aby wywota¢ z pamigci wysokos$¢ podatku,
naciénij klawisze [RATE] i [-TAX].

g% Przetacznik liczby miejsc po przecinku

-F- Tryb zmiennej liczby miejsc po przecinku

—0-2-3- Tryb statej liczby miejsc po przecinku

-A- Tryb ADD-Automatycznie wstawianie dwuch znakéw po
przecinku dziesigtnym pod czas dodawania lub
odejmowania sum pienigznych

t541 Zaokraglenie w dét / Zaokraglenie w gore / Przetacznik

[ )] trybu zaokraglenia

Znaczenie wskaznikéw wyswietlacza:

MEMORY : Pamigé TAX : Suma podatku

—MINUS : Minus (lub liczba ujemna) —TAX : Cena bez podatku

ERROR : Biad przepetnienia +TAX : Cena z podatkiem

% : Zapisana do pamieci wysoko$¢ podatku  GT : Suma ogétem

RATE : Wprowadzenie wysokosci podatku
PRZYKLADY DZIALAN [ potish |
1. Przykladowe obliczenia
N . . N . - P ON
Przed rozpoczeciem obliczen nalezy nacisna¢ klawisz [T]'

Przyktad Klawisze Ekran
AQ23F 2x3=6 2[X]2[CE] 3 [7] o1 6.
D 7x9=63 7 X9[=] GT 63.
300 x 27% = 81 300 [x] 27 [%] GT 81.
% x100% =20%  11.2 [+] 56 [%] GT 20.
300+(300 x 40%)=420 300 [+] 40 [%] GT 420.
300—(300 x 40%)=180 300 [-] 40 [%] GT 180.
1400 x 12% = 168 1400 [x] 12 [%] GT 168.
6+4+75=175 6[+]4[+]7.5[] GT 175
5x3+02=75 [%]5[)(]3 [+]0.2[7] GT 75.
8+4x37+9=164 8[+]4[x]3.7[+]9[=] GT 16.4
5°=625 5[x] [=] [=] [=] GT 625
1/2=05 2] [7] GT 0.5
1

Gxarig S 00625 2[3[+ 10 (] GT  0.0625
2023F  $14.90+80.35-$1.45+ 1490 [+] 35 [-] 145 o1 145
T $12.05=$25.85 [+] 1205 [=] 25.85

(= ]

2.0bliczenia z wykorzystaniem pamigci
A023F .

s (=128x 4)-(20+2) MRc] [MRC] [R] 0.
1541 12 [x] 4 [M+] 20 [+] 2 [M—]  memorY 10.
D [MRC] MEMORY 38.

MRC] [ 2] 0.

3.Stala
AQ23F 2+3=5 2[+3[] 5.
4+3=7 4[=] 7.
3x4=12 3[x]4[=] 12.
3x6=18 6[=] 18.

4.Przepetnienie pamigci
1234567890123456 x 12345678901234567 ERROR  1"234'567'890'123'456

10000 = [00-0] 123456'789'0123456
1234.567890123456  [x] 10000 [=] ERROR  1'234.567890123456
x 10" OoN

! 0.
5.Przyrost i obnizka cen
A023F  200+(P x20%)=P 2000 [+] 20 [MU] 2'500.00
[ ) 2000 _,, MU 500.00
11 P00 =2500.00 Myl
2500-2000 = 500.00
200—(P x 20%)=P 2000 [+] 20 [+/-] [MU] 1'666.66
= 2000 _1666.66
1+20%
18000-15000 o, 18000 [-] 15000 [MU] 20.00
—so00— X100%
=20.00%

6.PAMIEC GT

Aby przejs¢ do obliczen w trybie GT, nacis$nij [GT] dwa razy.

A023F 20+10=30 [GT][GT] 20 [+] 10 [=] GT 30.

W 45-25=20 45[-] 25 ] er 20.

50 x 3 = 150 50 [x] 3 [=] GT 150
total = 200 [GT] GT 200.
200 x 15% = 30 [x] 15 [%] GT 30.
200 + (200 x 15%)  [GT] 6T 230.
=230 [GT] 230.

% 0.

Wszystkie wyniki obliczen bedg automatycznie zapisane w pamieci GT
7.0bliczenie podatku

100+TAX(3%) 3 [RATE] [+TAX] %
e 100 [+TAX o >
+
[ 1 103.
Suma podatku = 3 [+TAX] TAX
3.
3 = Suma podatku 103 = Inkluzywna wysoko$¢ podatku
%
206-TAX(3%) (] [RATE] [-TAX] 3.
=200 —TAX
206 [-TAX] 200.
Suma podatku = 6 [-TAX] TAX 6
6 = Suma podatku 200 = Ekskluzywna wysoko$¢ podatku
File name: D496_IB_Polish_041122.doc Date : 2004/11/22

Size : 280x72mm(=$ 7| : 140x72mm)
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& sihall 851 - o e el dale) #like e lakiall

AL Qe [0 i ke [N Jasy) s [CE)
SN e laY) #liar [M4] il g sa Ml 2l [00-0]

3OS G kel e :[M-]

58 Gt liia /5,800 sle i) #lsia ; [MRC]

L [ e ) el ades #liie : [MU] LAY s Zliet[+ / ]
AaaY) g sanall e 1 [GT]

Ay pall pu alae] Flie :[RATE]

LETAX] 5 [RATE e ol e A i) o lo 5 g 2 e (15 00 - [0 ]
[#TAX] 5 [RATE] alie o Jiad s g o e i g o e e e 1 [STORE]

2 pdall ALl s ke

Aailadl 41 jiall Jaas

B A b

2okl gaal) il 3 gl 45l JUaoly GO L) a4
QA sl /5 ol

thle (il el LSS Cladle

el faa sTAX 5 81 :MEMORY

A el oLl an ) :-TAX (=il ) il :-MINUS
Ll Jal o I HTAX 03 gis s :ERROR
Lyl ) L 50 9% Ayl ) o) 1 RATE
Hea¥) g saadl :GT

;u.;n 4¥iaiq
[%N] Tl o ki) cleaa JS AL 33

Jlial) i) Al )
A0z3t 2x3-6 2(x]2[CE]3 <] ot 6.
C— I 7x9=63 7 X9 GT 63.
300 x 27% = 81 300 [x] 27 [%] GT g1,
% x100% =20%  11.2 [+] 56 [%] 6T 20,
300+(300 x 40%)=420 300 [+] 40 [%] GT 420
300-(300 x 40%)=180 300 [] 40 [%] 6T 1g0.
1400 X 12% = 168 1400 [x] 12 [%] 6T 168,
6+4+75=175 6[+]4[+]7.5[=] GT 175
5x3+02=75 (M5x3[102(4 oF 75
8+4x37+9=164 B8[:]4[]37[+]9[z] ST 164
5'=625 5[x1[=][=] =] GT 625,
1/2=05 2= 6T o5
1
@2x3+10) 0.0625 2[x]3[+] 10 [:][=] GT 0.0625
A023F  §14.90+$0.35-$1.45+ 1490 [+] 35 [] 145 145
My $12.05-$25.85 +11205 [] 6T 2585
58I s 2
AQ23F
~~~~~ (12x4) - (20 +2) [MRC] [MRC] [N 0.
L i3 [MRC] [MRC] [&]
1541 12 [x] 4 [M+] 20 [+] 2 [M-]  memoryY 10.
@ = [MRC] wewory 38,
MRC] [ 0.
) Glaa 3
A023F  24+3=5 2[+3[=] 5,
4+3=7 4 7
3x4=12 3[x14[=] 12.
3x6=18 61=]

; .18,
230 adal) Uad ida 4
1234567890123456 x  12345678901234567  ERROR  1'234'567'890'123456

10000 = [00-0] 123456'789'0123456
1234.567890123456  [x] 10000 [=] ERROR  1'234,567890123456
x 10" OoN
[c] 0.
Jalilg oY1 ) ) ailas a5
200+(P x 20%)=P 2000 [+] 20 [MU] 2'500.00
A023F p=_2000 _p55099 MU 500.00
CoHH  1-20%
2500-2000 = 500.00
15y 200-(PX20%)=P 2000 [+] 20 [+/-] [MU] 1'666.66
— _ 2000 _,,
P= o = 1'666.66
1800015000 16, 18000 [] 15000 [MU] 20.00
15000
=20.00%

¥l g sanall 5813 6
el g sanall Al 5 Ll U8 (45 5 [GT] sle Lol

20 +10 =30 [GT] [GT] 20 [+] 10 [=] GT 30.
45-25=20 45[-] 25 [7] GT 20.
50 x 3 = 150 50 [x] 3 [=] GT 150,
total = 200 [GT] 6T 200.
200 x 15% = 30 [x] 15 [%] GT 30.
200 + (200 x 15%)  [GT] GT 230
=230 [GT] 230.

2 0.

100+TAX(3%) 3 [RATE] [+TAX] N

=103 -

100 [+TAX] e 103

gl g sena=3 [+TAX] Tax ’

3.

10324y ol ALls Rl 3=y el ¢ pane

%

206-TAX(3%) (] [RATE] [-TAX] 3.
=200 —rax

206 [-TAX] 200.

Aypallp eaa=6 [-TAX] TAX o

200 =gyl o2 padadll B Ay pall g sena
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* Sumber tenaga listerlk Bahasa Indonesia

Calculator CITIZEN model SDC-660Il mendapat listerik dari dua macam
baterai : tenaga matahari dan tenaga simpanan, sehingga calculator ini
bisa bekerja dibawah segala macam sinar.

-Sumber tenaga bisa bekerja dan tutup secara otomatis-

Jikalau dalam kira2 6 menit calculator tidak bekerja maka sumber tenaga
akan berhenti bekerja otomatis.

-Cara mengganti baterai-

Jikalau baterai perlu diganti, anda harus membuka dulu kotak baterai dan
mengeluarkan baterai lama. Sesudah itu anda baru bisa memasukkan
baterai yang baru didalam kotak itu. Setelah mengganti baterai, silahkan
gunakan obyek metal berbentuk bulat panjang untuk menekan RESET
pada PCB.

Daftar fungsi tuts Bahasa Indonesia

[%"] : Tombol Power On / Hapus Semua [CE] : Tombol Power On
[00-0] : Koreksi [+/-] : tTombol pengubah tanda
[M-] : Memory pengurangan. [M+] : Memory penambahan
[GT] : Tombol Total Keseluruhan

[MU] : Tombol Mark-up / down harga

[MRC] : Tombol Pemanggil Memori / ombol Penghapus Memori

RATEQ Tombol Pengatur Tarif Pajak

STOR : ®Harga dengan Tombol Pajak@Untuk menyimpan Tarif Pajak pada
waktu menekan tombol [RATE] dan [+TAX]

[RETC&L] ®Harga tanpa Tombol Pajak@Untuk mengembalikan Tarif Pajak
pada waktu menekan tombol [RATE] dan [-TAX]

g% Switch pemilihan jumlah desimal

-F- Mode desimal mengambang

—0-2-3- Mode desimal tetap

—A- Mode ADD secara otomatis akan memasukkan desimal

keuangan pada operasi perhitungan penambahan dan
pengurangan

Switch untuk pembulatan ke atas / pembulatan ke bentuk
yang lebih sederhana / pembulatan ke bawah

Arti dari Tanda-tanda yang Muncul di Layar:

MEMORY : Memori TAX : Jumlah Pajak

— MINU inus(atau negatif) —TAX : Harga tanpa Pajak
ERROR : Kesalahan Overflow +TAX : Harga termasuk Pajak
GT : Total Keseluruhan. % : Tarif Pajak yang tersimpan
RATE : Pengatur Tarif Pajak

Contoh cara paka Bahasa Indonesia

1.Cara kalkulasi biasa
Sebelum melakukan setiap perhitungan, tekanlah dahulu tombol [%N].

Contoh Operasi Tombol Tampilan di Layar
AQ23F 2x3=6 2[X]2[CE]3[7] o1 6.
D 7x9=63 7 X9[=] GT 63.
300 x 27% = 81 300 [x] 27 [%] GT 81.
1;—2 x100% =20%  11.2 [+] 56 [%] GT 20.
300+(300 x 40%)=420 300 [+] 40 [%] GT 420.
300—(300 x 40%)=180 300 [-] 40 [%] GT  180.
1400 x 12% = 168 1400 [x] 12 [%] GT  168.
6+4+75=175 6[+]4[+]7.5[=] GT 175
5x3+02=75 [%]5[)(]3 [+]0.2[7] GT 75.
8+4x37+9=164 8[+]4[x]3.7[+]9[] GT 164
5*=625 5[x] [=] [=] [=] GT 625,
1/2=05 2] [=) GT 0.5
1
Gxarig - 00625 2[3[+ 10 (] GT 0.0625
2023F  $14.90+80.35-$1.45+ 1490 [+] 35 [-] 145 145
M5 $12.05=525.85 [+ 1205 [=] o7 2585
i
2.Cara melakukan kalkulasi dengan memory
A023F
I ) (_1§8x 4)=(20+2) MRc] [MRC] [R] 0.
1541 12 [x] 4 [M+] 20 [+] 2 [M-]  mewory 10.
[ ] [MRC] MEMORY 38.
MRC] [ ] 0.
3.Cara kalkulasi dengan bilangan konstan
A023F 2+3=5 2[+]3[7] 5.
C W 4+3=7 4[=] 7.
3x4=12 3[x]4[=] 12.
3x6=18 6[=] 18.

4.Pengnapusan kalkulasi yang melewati
1234567890123456 x 12345678901234567 ERROR  1'234'567'890'123'456

10000 = [00-0] 123456'789'0123456
1234.567890123456  [x] 10000 [=] ERROR  1'234.567890123456
x 10" ON

! 0.
5.Perhitungan mark-up & down harga
AQ23F  200+(Px20%)=P 2000 [+] 20 [MU] 2'500.00
o 2000 MU 500.00
tsuy  P=-—=2'500.00 M)
1543 1-20%
2500-2000 = 500.00
200—(P x 20%)=P 2000 [+] 20 [+/-] [MU] 1'666.66
= 2000 _1666.66
1+20%
1800015000 _ 4016, 18000 [-] 15000 [MU] 20.00
15000
=20.00%

6.GT-MEMORI

Tekanlah [GT] dua kali sebelum Anda mengoperasikan fungsi GT .

AQ23F 20+ 10 =30 [GTI[GT] 20 [+] 10 [=] GT 30.
M 45-25=20 45[-25[=] GT 20.
50 x 3 =150 50 [x] 3 [=] GT 150

total = 200 [GT] 6T 200.

200 x 15% = 30 [x1 15 [%] eT 30.

200 + (200 x 15%)  [GT] GT 230

=230 [GT] 230.

% 0.

Semua hasil kalkulasi dikumpulkan secara otomatis dalam GT.
7.Perhitungan Pajak

100+TAX(3%) 3 [RATE] [+TAX] 3%
=103 -
+TAX
) 100 [+TAX] 103.
Jumlah pajak =3 [+TAX] TAX
3.
3 = Jumlah pajak 103 = Nilai termasuk pajak
206-TAX(3%) (9] [RATE] [-TAX] s
=200 ~TAX
206 [-TAX] 200.
Jumlah pajak = 6 [-TAX] TAX s
6 = Jumlah pajak 200 = Nilai di luar pajak
File name: D496_IB_Indonesia_041119.doc Date : 2004/11/19

Size : 280x72mm (7 % £ : 140x72mm)



* HR

X

CITIZEN SDC-66011 2 X & &)t it EALCAIHEES R fte) - AT
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IRIEAND AR TEMREH RN R IRE S
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INRFEEIREM - FTH T HBM -

WKHA] -

g TR MARTE R A -

;E;é@@im@z CBA—2E - ME K EREIRIEER A RESET

*ERERS

[R: iU 205k
[00~0] : &AM
[M-]: JROEIS 288
[MU] : FRA B

[CE]: JBFRAIA
[M+]: hm#EI2IZ 5
[+/-]: ERScaEiE
[CT]: 2iti

[MRC] : @RI AR RIEFICIZ AR

[RATE] : frukzsig 2

1STO5F) : oMt s e
RECALL,
[T7ax]

AQZ3E AR T
-F- PR

—2— 2-3- Em/ s

1541

BTEBIREZEN:

11— B
AT ERT - st (] 2 -

[RATE] #lI [+TAX] BE fEFRUE

I QTN B TR [RATE] #1 [-TAX] $#ETiRIRURE

MR BEENESROE T ERIMA T/ R
TERMAHEAN | MBEAA | TRAEE FX

TAX : T
—TAX : RS 1
+TAX : SHREN 15
RATE : fliasigie

SEB BEHRMF BT
A023F 2x3=6 2[x] 2[CE] 3[] er 6.
7x9=63 71X19[=] GT 63.
300 x 27% = 81 300 [x] 27 [%] eT 81.
% x100% =20%  11.2 [] 56 [%] eT 20.
300+(300 x 40%)=420 300 [+] 40 [%] GT 420
300(300 x 40%)=180 300 [-] 40 [%] GT 180,
1400 x 12% =168 1400 [x] 12 [%] GT 168,
6+4+75=175  6[+]4[+]7.5[7] 6T 175
5x3+02=75 N5 [x13[10.2[<] eT 75.
8+4x37+9=164 8[]4[x]3.7[+]9[=] 6T 164
5'=625 5 [=1[=] [=] GT 625,
1/2=05 2[5 GT 0.5
1
Bxarig) © 00625 2[3[+ 10 (<] GT 0.0625
A023F  $14.90+$0.35-$1.45+ 1490 [+] 35 [-] 145 145
Lo $12.05=$25.85 [+] 1205 [=] 6T 2585
(@ =}
zﬂgyaamﬁ
..... - + ON
(=128x 4)=(20+2) |MRc] [MRC] (B 0.
1541 12[x] 4 [M+] 20 [+] 2 [M-]  memory 10.
[ ] [MRC] MEMORY 38.
MRC] [ 0.
SHEHMHE
A023F 2+3=5 2[+]3[7] S.
W 4+3=7 4[] 7.
3x4=12 3x4[= 12.
3x6=18 6[=] 18.
4B EEAZHER
1234567890123456 X 12345678901234567  ERROR  1234'567'890'123456
10000 = [00-0] 123456'789'0123456
1234.567890123456  [x] 10000 [=] ERROR  1'234.567890123456
x10” OoN
1% 0.
SANEREMITE
A023F  200+(Px 20%)=P 2000 [+] 20 [MU] 2'500.00
teuy P=oia-=2'500.00 M) 500.00
| ’
2500-2000 = 500.00
200—(P x 20%)=P 2000 [+] 20 [+/-] [MU] 1'666.66
=220 __1666.66
1+20%
18000-15000 -, 18000 [-] 15000 [MU] 20.00
—sao0— ¥100%
=20.00%
6.5t AR
TE(RIRAERITINEERT - $RIGT] =K -
A023F 20 +10=30 [GT][GT]20[+]10[5] 6T 30.
45-25=20 4525 [=] eT 20.
50 x 3 = 150 50 [x] 3 [=] 6T 450,
total = 200 [GT] 6T 00
200 x 15% = 30 [x] 15 [%] o1 30,
200 + (200 x 15%)  [GT] 6T 230
=230 [GT] 230.
&) 0.
FIBMTBERBERRED T
TRREWE
100+TAX(3%) 3 [RATE] [+TAX] *
=103 3.
100 [+TAX] N
N 103.
12fE=3 FTAX] X
3.
3=TRE 103 =578 18
ngJAXG%) ] [RATE] [-TAX] 3
- —TAX
206 [-TAX] 200.
f1E=6 LTAX] ™ .
6 =13 18 200 =R ETR{E
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Information for Users on Collection and Disposal of used Batteries.

The symbol in this information sheet means that used batteries
should not be mixed with general household waste.

For proper treatment, recovery and recycling of used batteries,
please take them to applicable collection points.

For more information about collection and recycling of batteries,
please contact your local municipality,your waste disposal service
or the point of sale where you purchased the items.

Information on Disposal in other Countries outside the European Union.

This symbol is only valid in the European Union.
If you wish to discard used batteries, please contact your local authorities
or dealer and ask for the correct method of disposal.
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If you want to dispose this product, do not mix with
general household waste. There is a separate collection
systems for used electronics products in accordance with
legislation under the WEEE Directive (Directive
2002/96/EC) and is effective only within European Union.

Wenn Sie dieses Produkt entsorgen wollen, dann tun Sie
dies bitte nicht zusammen mit dem Haushaltsmiill. Es gibt
im  Rahmen der WEEE-Direktive innerhalb der
Europaischen Union (Direktive 2002/96/EC) gesetzliche
Bestimmungen fiir separate Sammelsysteme fiir gebrauchte
elektronische Gerate und Produkte.

Si vous souhaitez vous débarrasser de cet appareil, ne le
mettez pas a la poubelle avec vos ordures ménageéres. Il
existe un systeme de récupération distinct pour les vieux
appareils électroniques conformément a la Iégislation
WEEE sur le recyclage des déchets des équipements
électriques et électroniques (Directive 2002/96/EC) qui est
uniquement valable dans les pays de I'Union européenne.
Les appareils et les machines électriques et électroniques
contiennent souvent des matiéres dangereuses pour
I'homme et I'environnement si vous les utilisez et vous vous
en débarrassez de fagon inappropriée.

Si desea deshacerse de este producto, no lo mezcle con
residuos domésticos de caracter general. Existe un
sistema de recogida selectiva de aparatos electrénicos
usados, segun establece la legislacion prevista por la
Directiva 2002/96/CE sobre residuos de aparatos
eléctricos y electrénicos (RAEE), vigente Unicamente en la
Unién Europea.

Se desiderate gettare via questo prodotto, non
mescolatelo ai rifiuti generici di casa. Esiste un sistema di
raccolta separato per i prodotti elettronici usati in
conformita alla legislazione RAEE (Direttiva 2002/96/CE),
valida solo all'interno dell’'Unione Europea.

Deponeer dit product niet bij het gewone huishoudelijk afval
wanneer u het wilt verwijderen. Erbestaat ingevolge de
WEEE-richtlijn (Richtlijn 2002/ 96/EG) een speciaal
wettelijk  voorgeschreven  verzamelsysteem  voor
gebruikte elektronische producten, welk alleen geldt
binnen de Europese Unie.

Hvis du vil skille dig af med dette produkt, ma du ikke smide
det ud sammen med dit almindelige husholdningsaffald. Der
findes et separat indsamlingssystem for udtjente
elektroniske produkter i overensstemmelse med lovgivnin-
gen under WEEE-direktivet (direktiv 2002/96/EC), som
kun er geeldende i den Europeeiske Union.

Se quiser deitar fora este produto, ndo o misture com o lixo
comum. De acordo com a legislagdo que decorre da
Directiva REEE — Residuos de Equipamentos Eléctricos e
Electronicos (2002/96/CE), existe um sistema de recolha
separado para os equipamentos electronicos fora de uso,
em vigor apenas na Unido Europeia.

Jezeli zamierzasz pozby¢ si¢ tego
produktu, nie wyrzucaj go razem ze
zwyktymi domowymi odpadkami. Wedtug
dyrektywy WEEE (Dyrektywa
2002/96/EC) obowig zujacej w Unii
Europejskiej dla uzywanych produktow
elektronicznych nalezy stosowac

oddzielne sposoby utylizacji. _
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